1.075

3
40

3
@11 @)

3 3
= 12
40 © 50

@ 10

3
102
®O4

‘ 1.075

(0]
000

14—0.075:14-1




S 2329} 377} 2R Qre Bl oju AU
P Pm 9% Y Yy

32

— =0.32

100

16 32

50 100 0.32

8 32

% = 100 0.32

64 32

— = =(.32

200 100 03

22 g

20 100




3
5

®

5
0.3 > 100 > 0.03

1
> — >
2

™ ho




4. F7F QAT B 1m o A 046 kg YU ol e BT 23
mo FAL B kgl TEHA L.

» = kg

> HE . 1058kg

AR 23mo] B4 1 0.46 x 23 = 10.58(kg)




1 8
7ldo]l= gL, @
tdol= 8 4—25

upslsYTh 71 dup o wo) upbAx] A2 2#A]
LHERHAIL.)

> E

mn
[

B ES ohT, ol oL o 0 g

8
7+ — 8 x 57 = 2:56(L)

d& - 5x Z =3.75(L)

op2hA], &0l 7k 3.75 - 2.56 = 1.19(L) & HHAlEH T




